y(t) = c1r1 + coro + ... + cpxp +diuy + ...+ dyuy

Yy = cnry + cpry 4+ ...+ CpTn + dyur + ...+ diypuy
Yo = cor1 + cr2 + ... + CGnrn + duywy + ... + dyu,
Yn = Cm1Ty 1= Cm2T2 4w g CmnTn =+ dmlu‘l += waw o dmru"r
Y1 c11 €12 ... Cip Ty dip ... dy, )
Y2 Co1 €22 ... Cap T doq do,
= +
i i i ] Up
L Ym L Cm1l Cm2 - Cmn | L Tn | d-ml oo d mr
y = Cx + Du

where y is a column vector of the output variables y;(t), C is an mxn matrix of the constant

coefficients Cij that weight the state variables, and D is an m x r matrix of the constant

coefficients dij that weight the system inputs. For many physical systems the matrix D is the

null matrix, and the output equation reduces to a simple weighted combination of the state
variables:

y = Cx.
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